3.7. Assume Poland’s currency (the zloty) is worth $.17 and the Japanese yen is worth $.008.  What is the cross rate of the zloty with respect to yen?  That is, how many yen equal a zloty? 


3.17. Compute the forward discount or premium for the British pound whose 180 day forward rate is $1.75 and spot rate is $1.78.  State whether your answer is a discount or premium.


4.12 Blue Demon Bank expects that the Chinese currency (the yuan) will depreciate against the dollar from its spot rate of $.15 to $.14 in 10 days.  The following interbank lending and borrowing rates exist:



Lending Rate
Borrowing Rate

U.S. dollar
8.0%
8.3%


Chinese yuan
8.5%
8.7%


Assume that Blue Demon Bank has a borrowing capacity of either $10 million or 70 million yuan in the interbank market, depending on which currency it wants to borrow.

a) How could Blue Demon Bank attempt to capitalize on its expectations without using deposited funds?  Estimate the profits that could be generated from this strategy.

b) Assume all the preceding information with this exception:  Blue Demon Bank expects the yuan to appreciate from its present spot rate of $.15 to $.17 in 30 days. How could it attempt to capitalize on its expectations without using deposited funds?  Estimate the profits that could be generated from this strategy.

4.13 Assume that the United States invests heavily in government and corporate securities of Country K.  In addition, residents of Country K invest heavily in the United States.  Approxi​mately $10 billion worth of investment transactions occur between these two countries each year.  The total dollar value of trade transactions per year is about $8 million.  This information is expected to also hold in the future.


Because your firm exports goods to Country K, your job as international cash manager requires you to forecast the value of Country K’s currency (the “krank”) with respect to the dollar.  Explain how each of the following conditions will affect the value of the krank, holding other things equal.  Then, aggregate all of these impacts to develop an overall forecast of the krank’s movement against the dollar.

a) U.S. inflation has suddenly increased substantially, while Country K’s inflation remains low. 

b) U.S. interest rates have increased substantially, while Country K’s interest rates remain low.  Investors of both countries are attracted to high interest rates. 

c) The U.S. income level increased substantially, while Country K’s income level has remained unchanged. 

d) The U.S. is expected to impose a small tariff on goods imported from Country K. 

e) Combine all expected impacts to develop an overall forecast.

5.14 Mike Suerth sold a call option on Canadian dollars for $.01 per unit.  The strike price was $.76 and the spot rate at the time the option was exercised was $.82.  Assume Mike did not obtain Canadian dollars until the option was exercised.  Also assume that there are 50,000 units in a Canadian dollar option.  What was Mike’s net profit on the call option?

5.15 Brian Tull sold a put option on Canadian dollars for $.03 per unit.  The strike price was $.75 and the spot rate at the time the option was exercised was $.72.  Assume Brian immediately sold off the Canadian dollars received when the option was exercised.  Also assume that there are 50,000 units in a Canadian dollar option.  What Brian’s net profit on the put option?

5.22 Auburn Co. has purchased Canadian dollar put options for specula​tive purposes.  Each option was purchased for a premium of $.02 per unit, with an exercise price of $.86 per unit.  Auburn Co. will purchase the Canadian dollars just before it exercises the options (if it is feasible to exercise the options).  It plans to wait until the expiration date before deciding whether to exercise the options.  In the following table, fill in the net profit (or loss) per unit to Auburn Company based on the listed possible spot rates of the Canadian dollar on the expiration date.

Possible Spot Rate 
Net Profit (Loss) per Unit


of Canadian Dollar
to Auburn Corporation


on Expiration Date
if Spot Rate Occurs
6.16 The Hong Kong dollar’s value is tied to the U.S. dollar.  Explain how the following trade patterns would be affected by the appreciation of the Japanese yen against the dollar:  (a) Hong Kong exports to Japan and (b) Hong Kong exports to the United States? 

6.19
If most countries in Europe experience a recession, how might the European Central Bank use direct intervention to stimulate economic growth?


Why do you feel that ECB is not doing this to counter the weakness of the dollar?
7.5 Assume the following information for a particular bank:



Quoted Price

Value of Canadian dollar in U.S. dollars
$.90


Value of New Zealand dollar in U.S. dollars
$.30


Value of Canadian dollar in New Zealand dollars
NZ$3.02


Given this information, is triangular arbitrage possible?  If so, explain the steps that would reflect triangular arbitrage, and compute the profit from this strategy if you had $1,000,000 to use.

7.6 
Based on the information in the previous question7.5, what market forces would occur to eliminate any further possibilities of triangular arbitrage?

7.10
Assume the following information:


Spot rate of Mexican peso
= $.100


180‑day forward rate of Mexican peso
= $.098


180‑day Mexican interest rate
= 6%


180‑day U.S. interest rate
= 5%


Given this information, is covered interest arbitrage worth​while for Mexican investors who have pesos to invest?  Explain your answer.

8.14
If investors in the United States and Canada require the same real return, and the nominal rate of interest is 2 percent higher in Canada, what does this imply about expectations of U.S. inflation and Canadian inflation?  What do these infla​tionary expectations suggest about future exchange rates?

8.23 Assume that the spot exchange rate of the British pound is $1.73.  How will this spot rate adjust according to PPP if the United Kingdom experiences an inflation rate of 7 percent while the United States experiences an inflation rate of 2 percent?

8.24
Assume that the spot exchange rate of the Singapore dollar is $.70.  The one‑year interest rate is 11 percent in the United States and 7 percent in Singapore.  What will the spot rate be in one year according to the IFE?  (You may use the approximate formula to answer this question.)

8.25
As of today, assume the following information is available:




U.S.
Mexico

Real rate of interest required by investors
2%
2%


Nominal interest rate
11%
15%


Spot rate
—
$.20


One‑year forward rate
—
$.19

a)
a. Use the forward rate to forecast the percentage change in the Mexican peso over the next year.

b.
Use the differential in expected inflation to forecast the percentage change in the Mexican peso over the next year.

c.
Use the spot rate to forecast the percentage change in the Mexican peso over the next year.

